Incline of infinite mass, non-zero static friction. Call the magnitude of
the frictional force f and assume the block is not moving. Newton's law in
vertical is:

A. -mgcos©+N=0
-mg+Ncos©6 =0
Nsin®-fcos6 = mgsin®
Nsin® = mgsin6

m U o w

NcosB+fsin6-mg=0




Incline of infinite mass, non-zero static friction. Call the magnitude of
the frictional force f and assume the block is not moving. Newton's law in
horizontal is:

A. -f+mgsin6=0
-fsin@+mg=0
Nsin6-fcos8=0
Nsin® - fsinB = mgcos©

m U o w

Ncos6-mg+fsin6=0
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